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dp IO Py T e l Physics : Section-A (Q) Na, 1 1a 35 —

Sents s I I i "0.049 T, a magnetic
| ' . ‘-'ITI : 5 aetic field ol 9 ; i
PP '_P v i ’_ ilipers, (A + | Mivisions of vernier | § I m umiform |INI|¢I‘E"‘; !L““ Tt oscillations in
.;1 ale coingide w ith ¥ divi sions of nn‘.,,‘ scale. IT : needle performs J_J_h“m fm"wl""o[’_i 'i“ nib‘ﬁ‘ !
.} P : or o ; ﬁ‘-\. 5 shown. Thomd !
R D represent 0.1 'mm, the verni T constant seconids as sho b w2 If the magn d l;'i‘
(i cmj i needie is 9.8 * 1 e ist= 10 5 .‘\Lm—:
- metic momelt ofthe needle i1s X %
magnehe Lt
A . pof ¥ 15
‘ ?f_l_- ___j_— then the value of s}
4 100(N +1)
(3)  loon

) 10N+ 1)

:
2 [r:hu mn.rmchrnmulic source in Young's double ..U'f 513 (3) 12825
slit experiment js replaced by white light, then 5 5 4) 1280 7
(1) interference pattern will disappear. (3) 50m° { =

(2} there will be a central dark fringe surrounded
by a few coloured fringes.
(3] there will be a central bright white fringe
surrounded by a few coloured fringes.
() all bright fringes will be of equal width.

o A wire of length *I' and resistance 100 €2 is
divided into 10 egual parts. The first 5 parts are
connected in series while the next ‘5 pfarls are
connected in parallel. The two con}hmauanfs ;ntr:
again connected in series. The resistance of this
final combination is:

(1) 260
(3) 55Q

7 A horizontal force 10 N is applied to a block 4 as
shown in figure. The mass of blocks 4 and B are
2 kg and 3 kg, respectively. The blocks slide over
a frictionless surface. The force exerted by block

A on block Bis :

520
602

A logic circuit provides the output ¥ as per the
following truth able :

(2)
()

F=104 B 15
The expression for the output ¥is : — _,‘ﬁg 3ke
(1) 48+a 2) AB T
"6/ =2 4 { i (1) zero (2) 4N
) B ) & (3) 6N al) 10N
y 8 A tightly wound 100 turns coil of radius
The terminal voltage of the battery, whose emfis 10 cm carries a cumT———ijA. The magnitude of

10F and internal resistance | Q, when connected

the magnetic field at the centre of the coil is (Take

through an external resistance of 40 as shown permeability of free space as 4z 1077 Sl units):

in the figure is : (1) 44mT (2) 44T
F—i Ce B3) 44mT (4) 44T
S f 4 N
SR 9 Inanideal transformer, the turns ratio is —2 = -
'g(_';(/? : smrost =
The ratio ¥, : ¥, is equal to (the symbals carry
their usual meaning) :
. A 4y 2) 6V (H 1:2 (2 20
G) 8y ) 10 DSED @ L
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[IE)
The graph which shows the variation of It_ )_—1 J
and its kinetic energy, £ is (where 1 is de Brogl ie |
wavelength of a free particle) :
1 e
L § (2y 3=
7
To E o E
L L
@ ¥ wf 3
ik T
o——E o E

Given below are two staterpes
Statement T : Atoms are électrically neutral as
they contain equal number of positive and
negative charges,

Statement I1 : Atoms of each element are stable
and emit their characlcristi.cl: spectrum.

In the light of the above statements, choose the
mast appropriate answer from the options given
below : i

Both Statement | Statement 11 are

correct,

(2) Both Statement | and Statement Il are
incorrect, &

(3) Statement [ is correct but Statement 11 is

incorrect,

Statement | is incorreet but Statement 11 is
correct.

(4)

A bob is whirled in a horizontal plane by means

of a string with an initial speed of ® pm, The

tension in the string is 7. If speed becomgs 2

while keeping the same radius, the tension in the

string becomes :

14

A
g r @ 9r pr—ry
aw
NEj % $r g

Consider the following statement

icler

B. In a reverse biased pn junction diode, the

L1 A is correct but B s incorrect.
(2) A isincorrect but' B is correct.
(3} Both A and B are correct.

S
1 v e
Hop AN

£0'ng. | / | | | !
Pl / | | {
006 e~

s A and B and

atify the coTrect answer ©

e
For a solar-cell. the I-V characteristics lie

in the 1V quadrantof the given graph.

current measured in (). is due to majority

charge carriers.

(4) Both A and B are iicorrect.

A thermodynamic r.yg is taken through the
cyele abeda. The work done by the gas along the
path be is

=
—— W
=
bgie
AR

(1) zero (2) _30J
(3) 90J E{'ﬁ —60 J
Athin spherical shell s tharged by some source.
The potential difference between the two points ag‘;

Cand P (in 1) shown:[}{.the figure is:

(Take u‘)x](]gtgll units)

]‘tﬁu

1 ! -
quie ™ b e
() 1x105
(4) zero
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A light ray enters through a right angle
point P with the angle of mcrdcm_" e
in figure, It travels through the prism .l"~ Sl
its f"-h..' ¢ and emerges along the face 4, he

16 The moment of ineria " athin rod about an axis | 20

passing through its mid Pointand perpendicular

1o the rod {s 2400 g em? |
. L2 oﬂ? (GIL
2 175 em g f

i~

The fength afihe g |

rod is near Iy refractive index of the prism is;

(1 85cm

3) 207¢m T2.0cm "'_jﬁ;

17 A particle maving with uniform speed in 5 circular |
Path maintains - ||I
(1) constan; veloeity I|I "
2y Constant accelerstion 0 ﬁ o) %
WL constan velogity bug varyving aceeleration, 4
) varying velacity and varving acceleration, : \ﬁ 5
e — =
18 Ifcisthe el ity of light in free space, the correct
Stalements about phoroy amang the following v X :
e / 21 Inthe Tollowing circuit, the eqmvnl'ei?! capacitance
between terminal 4 and terminal 8 s :

AL The energy pig photon is £ = fy,

B The velocity of s photon js ¢ &l Jr'“'r =
hne A—E zw}” Lok
i JM'—_-T_' -_‘2,[.11" o
y
o o @

3) 0s5pr

C. The Mmomentum of a photon, Ve

D

In & photon-cleran collision, both tatal
“hergy and tog] momentum are conserviod,
E. Photon POssesses positive charge
Choose the Lorrect answer from the oplions given
betow :
(1) Aandp orily
(2), A B, Cang D ey
BT A, Cand p only
) A B Dand g only

The quantities which have the same dimensions
as those of solid angle are ;

L strain and angle

(2) stress and angle

() strain and are

22

4 angular Speed and stress

“At aay instang oftime £, the displacemeny of ainy i :
N 2F —<The Maximum elongagioy ol a stee] wire of I m

Parge, . .
h,f;::de Bgiven by 2/ | (g unit) under the Tength if the elgegic T
50, Moe of force of sy The value of “OE0 If the elastic [imi of steel and jis Young's

- MOdulus, respeetive G ¥
S Power (10 ST umig)- eaulus, fespectively, are 8 08 N m-2 and

221NN -2 is
e
k3 ¥ 4 mm

9 6 ) 40 mm

"('()— io
@ 04mm
4) 8mm
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28 Mﬂ:c:’_lJ:‘IlAl with List-T1. il o
= =5 - 2 a : ibility
Qe
1: t T A, Diamagnetic . % i
!‘S‘oie oid f L‘\'olmid"f B.  Ferromagnetic I 0=x=
- al - = =
In the above dizsram, a strong bar magiu?i is C. Paramagnetic NI g ==1 -
moving towards solenoid-2 from solenoid-|. The 5 Non mAGASE IV. O<y <€ (asma
direction of induced current in solenoid- | and that 5 - positive number)
i sClonond s (b el et hosh the Choose the correct answer from the options given
directions:
. 4 37 below:
(1} A8and D (2) BAand Cp E - %
(3) ABand CD 57 Bd and DO () AL BIL Cavin ],
: W2y AL B, C-I11, Dy
(3) AL BIL -1, Doty |
25 The mass of a planct is —Iln-"'lhal of the earth and (4) A-IV. B-1IL, C-11, Doy =
its diameter is half that of the earth. The _ = undergo
aceeleration due to gravity on that planet is : 29 Twa bod 1540 and Biof S i
1 196 ms2 {2) 9Rmg? completely inelastic one dimensional collision. B
[:3,)/ 4‘5.““::53 {1} 3-921.“5& mﬂ:;‘ﬂi 1'|1|:bndya\moveswilhvelocilyv.whileb()dyB e
: o is at rest before collision, The velocity of the
26 Match List Twith List 11, system after collision is Vz- The ratio v, : vais:
List I List 11 *4(; 1:2 @) 2:1
(Spectral Lines of (Wavelengths (nm)) (31 41 (4) 1:4
Hydrogen for
transitions from) - o =1
A m=3tom=2 L 4102 SRy oy ~—°'-—>z—-ﬂ—-—>P-—E-——>Q
B. m=41ip =2 1. 434, In the nuclear emission stated above, the mass
number and atomic number of the product o
i M =51tom=2 1L 656.3 :
respectively, are -
D. =610 m=2 V. 486.1 (1) 280, 8 (2) 286,80
Choose the correct answer from the options given (3) 288 82 (4) 286,81
below :
AL B, C-1V, D-11
(2) A, B-IV, C-11, D 31 Ifx= Ssin[ b3 +§)m Tepresents the motjon ofa
(3) A-IV, B-m, C-I, D1y i i
(4) A-1 B-In, C-11, D1y particle €xecuting simple harmonic motion, the
amplitude and time period of motion, respectively,
I27  An unpolarised light beam strikes a glass surface are ;
at Brewster’s angle. Thep (1) Sem, 24 (2) Sm,234
(1) the reflected light wi|) be partially polarised. (3) Sem, |5 @) 5m, 15
(2) the refracted light will be Completely
. _goll;n:ed_ 1 ’ . . 32 Athin flat circular dise of radius 4.5 em s placed
3y C? I] : r;.! :.clteai_ an;:l refracted light wij| be gently over the surface of water. If surface tensian
Mmpletely polarised. p T 5
o ”:e fe:.leglgtj alriic;; i of water is 0.07 Nm~L, then the excess foree
polarised byt rI|b r‘ It\] t (;tl":{;:mpl'j:c;}l o -t ke "away from he sirfuos g
€ refracte 1ght wi ] 19.8 mN 4 ]
partially polarised, W : t) L
| (3) 198 mN (4) 99N -

Q3_English |
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3 s
Physica 1 Section-B (Q; No- 36 10 = s
sutput (1) of the given o : N

highest and lowest points on the wheel,
respectively)?

&

(4) 32

11T

39 Two heaters A and B have power rating of 1 KW

and 2 kW, rgspectively. Those two are firs|
connected ipseries and then in parallel to a fixed

o

(1), Point £ moves slower than point 0.

J.. Point £ moves faster than point {J,

(3)  Both the peints 2 and @ move with equal

power source, The ratio of power outputs for these

[Wo cases ise

Ey speed. oty i
W (4) i‘ufm/’fmszerospeed. @) 1:2 (03

Q3 _English / e
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o by connectiy,

]

; . TR
wnss of the bob ina simple p..ndul\

gic pate i | Fise : itk 3 I the w e length
tput of ann RIS Bate is similar | 35 o paralle] plate capacitor i3 ChOTEe |40 The following graph represents the T=V curves of | 43 |'||:'l"‘-"-| 1o thriee its original mass and its ler I|_1“L.
) & Batiery thipough o rESISt Il is the “urrey, an id s (where T is the emperature and Iy ..! it its original length, then the pew Lir
i | it to a batier) et |-|I the gap berween the platey , (e volume) at three pressures £y, £ and Py | is mude hr - .
! e i . . L.I‘nl -‘F‘-';ll“i""l""* Ol eI period af oscillation is : times its u\'igilm'l nme
# I = (1) there igno curren s dotted lines. - =5
2l )’l\ 2y displacgment current uf magnitude equal P £ v | period. Then the value of xis:
N e e ; [ (@) displa Rl P, %
lf'lr :;-I?Nl-) ite (2} NOR gate ‘%J" "l' | flowsii the same dircciion as I + o 2T 0y B (2y A2
{ Bte 4) 2 (oo : = 3
G be el | 3) ~tisplacgment current of magnitude equal | @ 2 NE] {4
i In‘“ . % g statements: one is labelled | s ; 1 u direction opposite to that of |, o
as Assertion A and the other is labelled a5 | {iHOWsY 4 - eniery required 1o launch a satellite
Reason R, - rrent of magnitude greg ! » cObrect telation is 44 1 he minimum energy required 1o launch 3
* | (4) displacement current of TES S Phen:the LOLREE elation | from the surface of carth of mass M
# :T i i . e fp frecti s e A Y 4 I 5 3 | of mass m irc surfa 4 s
\-Gf(‘ﬂil).n/\_ The patential (1) at any ‘I‘I.‘“.J““"- |I than | flows but can e A LD 1 N RS R and radius R in a circular orbit at an altitude of ; L}
at 2 m distance(r) from the centre of the dipole | Gy BR=A=8 4 A=m=n | 2R from the surface of the earth is: B |
. . . ! - M 1 - e g,
fd : . sctar £ of magnitude, | - sty Whic, 1ot of an electromagne \ SCrmM 2GmM ey
of dipole moment yector p of magnitude || 37 The property \\I'm.hl ! oy “l41  Thevelocity (v) - time (1) plotof the motion of a M e ) TR I
4= 100C m, is +92107 | wave travelling n fiee space is that: pody is shawn below : | o
| - | (1) they arétransverse in natre. —a [ GmM - GmA g |
Toke ——— = 9% 10" <1 ynits) T P e B (3) = |
(Take ey units (2) the energy density in electric field is equy ?_5 | IR IR %hl
 density in magnetic field. T 8a|
stk to cnergy density in magnel 0 : . . 2a)
Reason R : I'=2 5 Whereir is the ) — 45 A sheet s placed on a horizontal surface in front ‘:vl
fistarea B i Bef paint, siiuafed 8t 2 o I 9% The ncceleration () — time (¢) graph that best suits of a strong magnetic pulc._ A ﬁl:‘“:e is needed to T
.-J::': ::enncI: ‘;“r“_] dide]: J ‘[}" they travél with a speed equal 1o \".I-Iu ‘:: ihis motian s A, hold the sheet there if it is magnetic.
centre of the 2 IO : &l s it ;
In the light of the alove statements, choose ihe i = . 1]. hold the sheet there if it is non-magnetic.
correcs answer fromuthe options given befows ) ihey ofisinate from charges moving with £ £ B O the sl\e;_:\ n_w‘u}" from the pole with
{1}~ Both A and Rugre rruc and R is the correct (4) | they ORE : = 1 uniform velocity if it is condueting,
S explanation of A uniform speed. e = w2 o T — D, move the sheet away from the pale with
(2) Both A and R nre .r:,c‘ and R is NOT the uniform velocity if itis both, non-conducting,
commect explanation of £ and non-polar.
3) A istrue but R is false s elescope has an objective of focal len & g —~ o il - 3 oy
r!“ 4 i e 38 Asmalltelescope J : _ th i L Choose the correct statemeni(s) from the options
A is false 5 true. 140 em and-an eye piece of focal length 5.0 em. % % given below:
5 / s *k cart is rolling on a level e ‘ oo 3 3 T
3 A “j'f_e' of a hulfm.i. cars Dot 102 The magnifying power of telescope for viewing (3} To “ (1) Band D only
road as shown in the figure below, If its linear i 15> 1) {7 Aand C only Lles
speed is v in the direc shown, which one of a distant ohject is: 1 () A.CandD ont
: 3 o v M ] . . 3) A,Can only
the fallowing options is correct (# and (7 are any = v ive 42 Choose the correct circuit whic e . y =
12 op (1) 34 @ 28 i cuit which can achieve the (4) Conly 3 3

bridge balance.

46 A0 uF capacitor is connected toa 210 V.50 Hz
source as shown in figure. The peak current in

the circuit is nearly (n=3.14):

| 210 ¥,50 Hz

0.58 4

| (1)
1.20 4

| 13y
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cross-section 107 m? is heated from 0°C to 1H0FL
without expansion or bending e compressive B ot
force developed in it is: A, ethane 1 one a-bond ang
(1) S=10¢N (2) 0% 10N ‘ two 1-bonds
(3) 100 10PN @y 2= 103N . B et i et
| C, carbon 1. one o-hond
48 An iron bar of length | has magnelie moment M. | moleculé, €z g ]
1t is bent at the middle ol its length such thit the | . cthyne V. one o -bond and
two nrms make o angle 607 with & ch ather. The i
magnelic moment of this pew magnel is ¢ ||p;\,,:[huunrrucl-'lﬂa“ er ”.m'”h"‘(‘i’ﬁ“nggi\
o M | below: )
i =l 4 AL BIVGEL DT
| (2) A-IV. B-1IRC-11 D-1
(1) 2M () L | 3y A-lIL BV, G-I R-l
HE ] U
i 4y A-LL B-IV. C-L D-11

| plaie capacitor connected

49 Ifthe plates of'a paralle

toy a batery arc moved close each other, then

the same
E. the product of charge and voltage Ncreases.
Choose the most appropriate answer from the
options given helow:
(LA Band E onlv (2} A.CandE anly

(3) B.DandE only (4) A, B and C only

A force defined by # = it e [t actson @ particle

at a given time (. The factor which is

dimensionless. if ¢ and f arc constants, 1s:

B~ s

d &7 e @ %
(3) afr @ o/

A

Q3 English |

47 .
A metallic bar of Young's modulus, | 51 atch List | with List 1l
0.5« 1o 1 . gt
10N 2 nd coefficient of linear thermal List 1
EX NSO 50 Numbe
expansion 1075 0C1, Jength 1 m and area ol | (Molecule) (it

A, the charie stored i it, fACIEASES,

B, the cnengy stored in it, decreases.

€. its capacitance iNCreases |
. the ratio of charge to 1S potential remains

Chomistry @ Section-2 (Q. No. ST 1w 55

bond/s betw

%)

(54

Henry's W constant (Ky) values “"‘hn.
] in water are 145, 2% 1075 gl
cfively. The solubility of these g

The
gases (A B.
35 khar, respec]
i water follow-the order:
417 B=AZC 2)
(3 A=C=> B (4)

| 52

L

B=C>A
A=B=C

Given below are two statements:

Statement 1 7 The boiling point of hydrides
follow the order

53

Group 16 e]cn_i_'{_'ﬁts

H,0 > HyTe 3 HaSe > HS.

Statement TT £0n the basis of molecular mas
H,0 is expectédito have Jower boiling point t
the other members of the group but due o
presence of extensive H-bonding in HyO, it
higher boiling point.

In the light u!’_ﬁe above statements, choose
correct answerdrom the options given below:
,.u/f Bath Sl;:h_fnmnt 1 and Statement 11 are trut
(2) Both SLafe;r:nenl I and Statement 11 are fals
(3) Statement | is true but Statement 11 is fals

(4) Statement [ is false but Statement 11 s tru

[ Contd.
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O e
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) I o, Prar B paug

o)
o
=0

"
smrtr | |

e following

Wwh & cits 1ERE
ntramolecular hydragen bording is present it - etantaneousty ¥ L s
% e i on
ll/’_—._,‘\n_ P, Ciy CH, = 3
7 :
LY 4::/1-~m| | (33 €M CH,—CH OH
|| CHy
ey L
= |
| .
1,01
2 .m/[‘é/r | (3| By CH =S
| CH
|
P |
(3) rx | \ CHy
| o -on
HO | 4y CH; .
| Cily
(4) HF II
aate Aath
I| S8 | um of soddium hydroxide Was treated “f“
. s C ¥ g
Given below are bwo staterents: | Wodter b M HC) olution, the mass of sodium
Statement 1z The boiling point of three isomeric | ydroxide left unreacted is equal 10 py:‘\
3 BEE - L=}
pentanes follows the order | Ly~ 750 mg (2y 250 mg A,ﬁ {55 S ]
) e = |
ane = Isopentans = feopentanc |I (3) Zeromg (4y 200mz - qg-ry . . gy |
¢ 11 : When bratiching increases, the | ‘c' --t_n.“hl
molecule attains a shape of sphere. This results | g9 Arrange the following clements in inereasing |
i smaller surface area for contacl. due to which order of first ionizabon enthalpy:
the intermolecular forees between the spherical Li, Be, B. L N h - Iver
I : ili Laose this CorFect answe e oplions givey
molecules are weak, therehy lowering the poiling Choose the correct answer from the ophy 2
= below:

ey
statements, choose the

from the options given

point.
In the light of the above

miasi appropriate answy

below: o
-LX Both Statement land Statement |l are correct.

(2) Both Statement | and Statement 1l are | o,
incorrect, =~

(3) Statement 1 is cnr@_:tbm Statement 111
incorrect, i

‘bﬁ/ Statement | is incoftect but Statement 11 15
catrect.

The compound that will undergo Sy reaction

with the fastest rate is. |

(1) Qf\m {ljﬁ,Of T
, _~Tir ;
) @ (4) Br '\

(1 Lif-Bcc:Bf-Cf-'N
) Li<B<Be<C=N
@) La cBe<C<B=N
@y ki< Be<MN=B=<C

Dty
The most stable carbocation among the follow ng
is

CHy

M) g eu” CH,

| Contd...
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66  Mateh List 1 with List IT.
64  Martch List | with List 11 List I List 11
List ListI1 o oo
(Conversion) (Number of (Compound) (Shape/geometry)
Faraday required) A. NI I-""‘m i Trigonal Pyramidal
Al molof H,0'to O, I RE B BiF " ——I. Square Planar
B ] Fof MaO} t H. 2F
M ":l: o 0 XeFym—— 1Il. Octahedral
An- — )
£, 1.5 mol of Ca from m. IF D, SF, TV. Square Pyramidal
molten CaCl, Choose the correct answer from the options givey
D. I'molofFeOto Fe;0; IV. SF

Choose the correct answer from the options given
below:
(1} A-IL B-1V, C-I. D-1ll

(2}~ A

) A-

)

Q3 English |

A=l B-1V, C-1I, D-1

Activation energy of any chemical reaction can L

be caleulated if one knows the value of

| 65 Match List Fwith |
(1) rate constant at standard Jemperature

List T {Complex)

i s, - isnmerism)
(2)  probability of collision
arientation of reactant molecules during ]
o 3 | Solvale
collision. | o [CoNH; 31{.\0\_] |1
(4) rate constant at 1w different lemperatures. | = RS,
62  Given below are two statements: | oy - , & i
Statement I : Aniline does not undergo Friedel- |I B. | Co(NH, ) (59, ]_.”' - tdge
Crafts alkylation reaction | . )
1 2 somer
Statement I Aniline cannot be prepared thrangh isomerism
Gabriel synthesis. : - . i1 1.
In the light of the above :ils.u-ni\'r!i.-‘. chouse the ¢ [cafn, Jr | [er(en),] 111, Tonization
correct answer from the aptions given below! | 6 | L
(1) Bath Statement | and Statement 11 are true. s
429~ Hoth Statement | and Statement Iare m!_:_c. /
(3) Statement | is correci but Statement i is 5 rC'tJfJI o) 1“1 IV. Coordinatig,
fulse. . | L | 21 i
(1) Statement | is incorrect but Statement I is / -
true.

Choose the corréct answer from th
63  Arrange the following elements in increasing

order of electronegutivity:

below:
(1) A-I, B-IIL €-IV. D-I

N @ EC Sl ! :
Choose the correct answer from the options given (2) A-l, B-lIL C-I1V. D-II
below:

(3) A-L B-1V. C-11, D-1I

1) Si<C<N<Q<F _
2 si (AL BTV, €T, D-]

(2) Si=C=0<N<F
(G). O<F<N<C<Si
F<O<N=C<Si

below:

(1) AL B-1V, C-I1, D-111
21 AL B-LV, C-IIL D-]
(3) A-IIL B-1V, C-1, D-11
(4) A-Il, B-II1, C-1V, D-1

-ll, B-IV, C-1, D-11
. B-111, C-I, D-1V

10

List IT {Type it

€ opLions giye

| Contdd

iri |

B. Temperature of a crystalline solid lowered

from 130 Ko 0K,
2 NaHC Oy, +Nay €O + COpy + HyO
Clyy 2 €l T

£
B

12}

(g

below: [

(1) AandC @) A, Band D

(3) A.Cand D (4) CandD
)
70 Which reaction is NOT a redox reaction?
(1) Zn+ CuSO, —» ZnSO¢ + Cu
(2) 2KCIO;+1;, = 2KIO, + Cly
(3) Hy+Cl, = 2HCI

A4 BaCly + Nay,SO, — BaSOy + 2 NaCl

Q3 English |

Choose the correct answer ftom the options given | 74

oy sith List 1L
Match List 1w fist Tl

i i i : d
67 Which plot of In k vs & is consistent with List 1 Number  Information pmﬁdlt
Arrhenius equation? Quamini & 1. shapeof (.r.bl‘ﬂ
Arrh 5 € v .a‘.\. ny % G of\)rb\iﬂl
| “- o 11, orientation of
I L [ = orbital _
o = {2) =i === § 1V, orientation of spin
- J' = == ‘ 2l of electron
: siven
Choose the correct aswer from the options give
A belaw: .
i ) () AL BIL C1L DAV
(G s &7 AL BV, €L DN
f - P
S S R (1) A-IIL BV, C-T DA B
- : [ (4) A-IL Bl C-IVE B
! i - “ u;l._tgalg
t - ean + macnetit moment is same for which =
68  The energy of an electron-in the ground state | 72 5\D‘“ ‘;"‘l: \'\“:”“I::r“:" ‘!Q”:'Pﬂqw
(1= 1) for He' ion is—x J, thign that for an electron 0: ‘hLT':?:' owing : JPTEES Eﬁg&w
inn =2 state for Be** ion jnJ is f(_ Yoo O T “-ﬂ!gl]
& E. S Lacy [
=f A 5 ; el
N s s Choose the most appropriate answer from the A ;
I options given belowt e
(3) —4x (4) rpx L1y Band D only '__'.
' (2) AasndEonly
- (3) BandConly
69 In which of the following processes entropy (4) AandDonly .
increases? o W N
A. Aliquid evaporates to vapour. 73 The highest number of helium atoms is in "Dy

(1) 4 mol of helium
(2) 4uofheliom
(3) 4 gofhelium 3
pAiA) 2271098 L of belium at STP
Among Group | 6 elements. which one does NOT
show -2 oxidation state?

1y o Wy se
3F Te (4) Po

75  The E® value for lhe"\Mn]‘ Mn®* couple is mo
positive than that of O3 /C2* or Fe¥*[Fe* d
to change of )

(1) & to d* configiwation

(2) &3 tod* confighration

3 dh e dd L‘ullt_l':',llr:'dl'lm\
| () & 10 d° configuration
11
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e
v
{
i%ory
99-:§§:““
45 LT
l“"as-u
‘t'ecu-n..t
Ne. 86 2 ——
No. 04 L
: Q. 1T jjamait
: Se ioh are g
istry . Seciy s which a
ons
86  Thepair of lanthanoid i€
; i i ses change from : n i,
1I:elrungcn1.-, with nlu_ch Elucose does nog react | gy Fehling’s sotution *A~ is %) On heating, some solid substances Llu.”rl|.L.mu.-.ll ‘ Vi P
10 give the uum:spund;rlg rc-'.mpm.juc:s,. | (1) aqueous copper sulphate [ salid to vapour state without !m-.xi.ilil. LR ”., ( ‘..i nd Ead? oy,
A. Tollens Mengent | 2} alkaline copper sulphate liquid state. The technique usec b (2)  Ce gt
| (2} alkatine cop; dium potassi, qu ? lid stibetances based on the e C ang By i
B.  Schifrs reagen | (3) alkaline solution of sodi n purification of AUEt oy sl o : ! : s
C. Hen | tartrate (Rochelle’s salt) above [,;||||:J|I|-.:!e;_:'1.;|un\ nas i o S
| e dium citrate (1) Crystallizatior + below are twa stz o »
D, NHZOH || Enegtehs st [2)  Sublimation 87 Given below i . “‘“m,h_p \la.,..,,lu.
E. Naliso, f ) 13 Distillation statement 1 : [Ca(Nr) [0S oy,
| 5 2| th List I1. i atogrs State o T
Choose the cormeet options From the given below: | 81 Match List L with Li ey {4} Chromatography | ) cl J' is @ Lo
. o7 | List I ) .- CoNH, 2
(1) Bang S / {Process) (Conditions) 84 Match List I with List 11 List IT (Reagents/ complex whereas L { t P_-u_y._,qlu
) Band E (4) EandD / 31 B ist AgEs
( I.n A it I Noheat exchange List I (Reaction) Condition) ST Sl o " "‘-‘»“"-?m
ing : : ; has oniy a2y
Identify the correct reagents thar wourld bring |'|l process ILJ\ €11 : Complex | Co(NF 1, LI | '—“““M‘JJ_J s
abour the follow g trans formation. | B i 1. Carried our ar n Q“Q 1<_—>=“ e N Statemen : -
| B s - —+2 i = " : has
( \_,-H_. CH=CH; —» process cuusaanr[empcrature R ,\nh_\-d.."\JL.!_-\ (e |IE_““_‘._; o |C(J[N”53_‘LIEJ
i . “arri % one ki K ARG :
(_3—-('“, Cil, = CHO €. Isabaric il Carried out at o e
g = = canstant volume o 3 more than one kind of ligands. o se the
A B = | : 1s. choo
@ tome process " {L/@ <[5 WL Croy In the light of the above statements. (G
(i) €ro. D. Adiabatic IV, Carried out at - J % \ srrect answer from the options given below: B
i * ™ (9]7] ; COFre o et re ue.
0 process AR ¢ 7= Cr L KMegy (1) Both Statement | and Statement :: :re false. LC TR
i} 1,0 /CE” Choose the correct answer from the OPtions givep KOH, A (2} Both Statement [ and S:,memem 1l is false. 3
Zh “HL Statement [ is true but Statemen
= below: CH;CH, . (3) Statemen : 2 ¥ ot
(iif) PCE 1V, B-IIL -1 o D. @’ = V. (i) 05 (4) Statement | is false but Statement 11 is tr
(3) iy BH, () AV, B-11, -, ek
- COOK s
s i X = (i) Zn-H,0
- = 2T AV B, €11, oo Of 5
(i f,c /nn %
i‘ 0 (3) A-L B-li, -1, popy
(55} alk. KMnc A

i) H.0%
) (@ Homr

(4) A-IL, B-fiy, C-1V, D1

88 Mass in grams of copper dep&sited by pa.s_ss!ng \
Choose the correct answer from the options given 96487 A current through a voltmeter containing
below:

“opper sulphate solution for 100 seconds is: \
(1) AV, B-l, copp1, pugp (Given : Molar mass of Cy - 63 2 mol-!, e -
AL B-1, Co11, Doy LF = 96487 C)

v ; = YA BaL, Co1, Dy : 1 “\

(i) PCC ¥ Given beloware two statements G) A-IV, B-L C.I1 Dy (1) 3isg @) 0315¢

5 F B ' - (4) A-lL Bv, C-I1, D-m 3) 315 g 4) 0.0315 g
_ Smremenu:ﬂoﬂaic‘o!‘NHJ )L_JI ""dic"ﬁsf
C Which of the folfow ing eqm’ﬁbrr’ﬂ_.__&"p_gnt:f_}s‘ ]
-!rrNOngmI:’ complexes arp octahedral b

ut differ jp thei
(] PC&,_H;, = P(‘,';w ;7

magnetic behayioyr.

o 8% Forthe given reaction:
3 action 24 < poc g o 0, : IH ;
85 F.orthe.remm” 2A = .B_—rc 2 -x[ . Ata D_cl‘ —en E‘;Mﬁcl%il_g o
2] g + 2 HI 3 given time, the composition ofreuclmrl mixture H (major
P by = 2 4 e Statement | : [Cu NH ] is diamagner; : product)
27 . ety g+ 3 =[C)=2.1p-3
o O * 0y = o [ s e 5 [AI-[o]-fc] 2103y,
& 2800y Br, 4 i Then, which of the following is correcrs o
o Wy Whereas [C"Eﬁ] 'S paramagneric, (1) Reaction js 5 equilibniim o Q— e
7o : 5 & y =
A e, . : , 2 ‘>— ‘00
s r:”;‘:::-‘: : itha r;rmufeca.nfarf ﬁ'_ln'?uf)] off In the light of the above Slatements, chopge the () Reaction fag & lendency 1o go i forward 1) <_ R0k
r Mok carbors 15 {UPAC name 35 correct answer from (he OPtions given heloy: direction, OH Op
> - Al e =
2 ‘?‘”""“?}'fpenrane (1) Bowh Statement | ang Statemeny [ grp trug, () Reaction has 4 tendency o 20 in backyarg (3) Q tI_‘H &.“
\ﬂv““z&@ -"-f—d;'.enﬂ;?_,-;bmne (2) Both Statemen; | and Statement [ aro false direction, ‘Q
2 i - s | i o] > *,
ety Ibugan CHy ) Statemen v but Statemep ILis false W™ Reaction has gone 1o Completion jp forward i 2
0yt b, - cut—Hy 4) Statemen; | i direction ; ..
gyt | e S S0
y =
[ Cond.., Q3_Engiisp ]
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The produets A ang

reactions, respectivel

3ROH + PCly»3RCT 4 o

I‘I_?,u‘* PCL RO+ Hel+
POCI, and HyPO,

(2) POCI; and H.PO,

(3) H5P0, and POCI,

) H3PO; and'POC),

B obtained in the fo

9

-}.Q/‘E‘m kfmol
3804 kil

Fe'® jon?

(1) dilure hydrochloric acid
(2 concentrated sulphuric acid
(3) dilute nitric acid

(4)  dilute sulphuric acid

Major products A pnd B formed in the following
TEACTION Sequence; are
H

ale: KOH
5 . B
{majar} {major)
HC
0
Hy
- )
OH
£.C. f
(0]
1;C, f
14

Howing | 94

The rate of a feaciion quadruples when

temperature changes from 27°C to 5
Caleulate the engrgy of o o,
Given R =B34 K- mol !, log 4 = 0.6021 |

5
(3) 3.80 klimol = II| af NHy
(4] 3804 K maly 4 21 el I| {4) Three L:if:mnir:al forms can be drawn Ty

During the prepsrition of Mohr's salt solution
(Ferrous ammamium sulphate), which of the
following acid isndded o prevent hvdrolysis of

The plot of osimotic pressurs { 1) vs concentryg
(mal L") for a solution gives & straight line “"lh
L bar mol . Thi temperature at whi
pressun: measurement is done jg.

Slope 2
| the osmatic ;
| (Use R= 0,083 L bar mol~! K1)
(2) 310°C
(4) 12.05°C

| {1}
| {3)

II 9% Identify the correct answer.
A |I (1) Three restnance siructures ¢an be drawy f
|| ozone.

(2) BF; has non-zero dipole moment.

| (37 Dipolemoment of NF; is greater than thy

e
€Oy~ jep.

96 Identify the major product C formed in g,

following reacrion sequence :

CH, - CH, ~GH, ! = NaChE
oH™ NaOH
Partial I';J-‘.jrblms Bi’2 (major)

() propyl'anﬁne
(2}
(3) butanamide

butylamine

FES e bm_mlﬁhutanuic acid
97 Given below. are certain cations. Using inorganiy
qualitative d':_i!ﬂysis. arrange them in increasing
group number from 0 to VI.
A AP ¥ B. Cu?f
C. Bat D. Co2*
E. Mg

Choose the cofrectanswer from the options given
below:; 5

(1} B.A,D{C E
7 B.CADE
() EC.D,B A
(4) EABCD

| Contd...

1

o

et

i ic
ar weight argan

ecul =
small mol 1 example

Lecithin, & e " L
8 [The:warkidons during reversible isothermal compound found in living tissues, 15
ac !
expansion of ong mole of hydrogen gas at 25°C i . -
- i sphere ( acids
from pressure of 20 atmosphere to 10 atmosphere ;_1_"; ;—lr“:‘l:‘;;mlipids
& (=4 Gilycerides
(Given R = 2.0 cal K-! mol™!) (47 Carbohydrates
mctile FATP & NADPH are
(1) Usalorie 102 How many molecules of .f\lT’.'aP(f._l) o i the
required for every molecule of CO; B
(2} —413.14 calories Calvin cycle? .
‘ (4 2 molecules of ATP and 3 molecules of
(31 413.14 calories NADPH !
‘ (2) 2 molecules of ATP and 2 molecules of
(4) 100 calories NADPH
(31 3 molecules of ATP and 3 molecules of
NADPH :
-cule 2 les O
99 Consider the following reaction in a sealed vessel (4) 3 molecules of ATP and 2 molecules
: : : : NADPH
at equilibrium with concentrations of
3,0 % 103 M, 0, =42 = 107% M and 103  Hind ll always cuts DNA maleculesalnpnﬁicn{lar
i g point called recognition sequence and it consists
NO=2.8= 107 M. oft
Uy 8bp ) 6bp
! = (3) 4bp (4} 10bp = Ty,
01 = Ny () * V) i)
. 3 i 104 In the given figure, which component has thin
IF0.1 mol 171 Of NO,; is taken in a closed vessel, outer walls and highly thickened inner walls? \
what will be degree of dissociation (@) of NO,
at equilibrium?
(1) 0.00889 (2} 0.0889
(3) 0.8889 4y 071 s :
R €y ¢ @ D -
) A (4) B
100 Acompound X contains 32% of A, 20% of B and 105 Th.c c"ofador of the enzyme carboxypeptidase ig
remaining percentage of C. Then, the empirical ([J f:mcl (2}_ Miacin
formula of X is : (3} Flavin 47 Haem

(Given atomic masses of A= 64: B = 40;C=3
(1) AsBC, (2) ABC,

(3) AB,C, (4) ABC,

Q3 English |

‘1)\
1

106 The capacity to generate a whole plant from aj
cell of the plant is called: :
(1) Totipotency
i.'l‘J_ Micropropagation
¥} Differentiation
(4)  Somatic hybridization

5
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s diversity
auses of bindive
Ihese are regarded as major causes
118 Theseare reg

S N et . 1deritify thi
T Match Last Fwith List 01 HL e v 2 PO e ey stiterments hi
_ T - he Niowee. . o istic growth is
Hist Skt = ot <.\,.Lf\."’ L fmerisare colaurfuy 114 The equation of Verhulsi-Pearl logistic gre loss:
AL Rhizopn | Mushr il _L ) i A v A Owerexploitation
Be The Mowers of w0 o o s A
B Ustitago 1 Eate ¢ nor Iurl“"““.l ot ; Fn Ay et Be  Co-extunetion
. . Friom this equa LA mdicates: i .
C. Puccinin m ¢ I most of Waterpollinated yoe - 4y Intrinsic rate of natural increase ! TR - ntation
S, i ett e e hrd St il : abitat loss and fragmentatior
Agraricus | pollen grains are proteceq Trom Welling (2) Biotic potential < Habitat loss 3 L
Chiovse the correet answer frarh tlic options gihven I 0 Pallen grains of *'"Ilf\‘||_\.J|n[,|,_\.“_h \'l‘lul.- {3} Carmying capacity I Migration
helow { and ribbon like Oy {4} Population density Choose the correct option:
LY AL B CAvER-| E. Insome hndrophyies, the Pollen gpgs and D anly
¢ . yiets > By | e epare weed-froe (11 A, Cand )
wrried passively inside wy ity 5 Auxinis used by gardeners to prepare weed ;
(2) ALBAL Col, DRl carried passively Jn.-.ufn Wi 115 Iu:l‘\”.. Bt o el e PATERH S Beda n D (1) A, B.C and Donly
) AL B, G- DTV | Choose the correctanswer f.-.uulrtcupu-un_,gw" (¥ promotes apical dominance | (3) A, B and E anly
() A=V, BEIL e B | helow (2) promotes abscission aFmature leaves only _1//1 AL B and D anly
{ (1) €, Dand E only (3) does not affect mature monocotyledonous
en below sire iy stlltements | AL B. € and D only plants. ; § is not a-criterion for
R i) bela [ KA (4) ean help in cell division in Erasses, 10 | |10 ik e ot ing is not a criterior
Suatement s Bidoxfns e mscet | {3] A.C, DandEonly i S
[ L produce growil -lassification of fungi?
amfogded by gene i Ao | (4) B, €, Dand E only 5 N lium
L » # A Joenur
DOHBRERIEEL 0L foxin exlsts as:inactivy f 116 [dentify the part of the seed from the given figure (1) Morphology nr_m)-
!pnlru.\mjml;ﬂ d””1“.I‘I:;l“-'\.lrl;::crll-:“ .‘rl:'r [ 12 The factose present in the growth mediun o which is destined to form root when the seed (2) Mode of '"-'“'“'}’“ .
igestion by the Inseet the inactive proto i = 2 e SRR o g e germinates, 3) Mode of spore formation !
comverted into getive §m duc io acidic pi of | Bacteria is transported to the cell by the ction g > (3) : c e sp D"’VM%
the insect gul |' (1 actosidase 5 (4}  Fruiting body i
st of the above statements, chise the || (2) Acetvlase -
vamect answer from teoptions given belaw I| ) Prrimense 120 Identify the type of Nowers based on the position
(1) Both Sttement | wid Statement 1T are true I| (4¥ Polymernse of calyx. corolla and androecium with respect to
£2) Both Statement | and Statement [ are fulse | : the ovary from the given figures (a) and (b)
(3D Statement | fs true but Statement [I ie false | ; spi
o i ! R went I is fals | 113 March List Fwith List 11
I Stitement | is fiulge bur St ment (s true i
s f { List1 List IT >
| [ =
) - Ao Clesirieliem I L 4
109 Which of e followfng is an example of I|I : — (1) A 2) B —_—
actimomorphic ower? { butilicm r~ ':y}/ C () B :
(1) Bisiarys 27 Cuniie ||I B Succhatomyees I, Streptakidase
1 > 3 o “r
(2 Pivse ) Siihon |'I cerevivine - U7 Given below are two statements
| . Trichoderm It Bliyria méé Statement [ : Parenchyma is living but
B0 T e : | . s collenchyma is dead tissue, ’ )
ARE 0k conservatibn in whicl the threatenad | pelvsporym vt} (a) Epigy 5 Hy
C atened Statement [1: G % i {a) Epigynous; (b) Hypogynous
SPECIES are tuken out ftm their naturg) hab ,'I D, Srepiococcis v ; Statement ] ._{_nl\numqu s lack xylem vessels 2 YPpog)
and pliced in special Sghing wh : abitat | s 5p. IV Cyclosporin-A but presence of xylem vessels is the characteristic (=) (a) Hypogynous; (b) Epigynous
Srectatselting wheve they can pe | Choose the ¢ [ i « bl ¥ of anriosperme - :
Pritected and given Spegiad care is eallod bel " comectanser from the L‘pllc!n‘s“é!\-m | J”I: l.lbp”lm' 12) (@) Perigynous; (b) Epigynous
e & - L low: -7 s lig “the 1 s ments. o i
i (10 imsituconservation ; : fithe light of the above datements, choose the (4 (@) Perigynous; (b) Peria
(2) Biod; ' (1) AL, By, C-1, ey carrect answer from (he Options given belaw- i S crigynous
i ediversity con £l / . : T (T x
By < oivalion 2 ALBAV. G,y . (1) Both Statement I and Sfatemen i1 are true
L CMI-COnSaryvative r |'II £ e ) Statems - o . 2 st of e
onservative method | () A0 B IV Dy (2), Both Statement | and Statement |1 are false | 121 Listof endangered SPeCies was released by-
1 Statement | s (rye but Statement 11 is false (1) GEAC ) WWE
(1) Statement | s fajse but St i ) :
L : ut Statement I is trye !
ent 1 is trye ) FOAM 4) 1uC

{4} Uslamahle devels pmen ! 5 =, - =
4) 8 il r () f\“o',h‘f.( 1, 1

Q3 English |
16
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|
Choose the correat answer from the options given | 127

below |

the basis of Mendel’s Law of Dominance?
A, Our of one pair of factors one 15 dominant
and the other ts recessive.
8. Alleles do not show any expression and both
the characters appear as such in F,
peneration

€L Factors oceur in pairs in pormal diploid o

plants.
D The discrete unit controlling a particular
character is called factor.
E.  The expression of oaly one of the parcntal
characters is found in a monohybrid cross.
Choose the correct answer from the options given
below:
W A, B and C only
(2) A, C. Dand Eonly
() B, Cand D only
(4) A B,C DandE

(3)
)

stage.
TECOgr

124 Inbibition of Suceinic dehydrogenase enzyme by

malonate is a classical example of: sartpel

- (1) Cofactor inhibition
(2)' Feedback inhibition
~2) Competitive inhibition
(4) Enzyme activation
—

Q3 E nglish | 18

o w-hmis“’er'l"‘o"“lﬁlﬁt\:rlfL)N;\.'.urnim_----.l\ 125 Formation of interfascicular cambiurt from fi,
gene of interes: which is transferred inin &nalien | developed parenchyma cells is an example f, 2
organism? i S
A The picce of IINA would he able 1o multiply. | (2) Redifferentintion

sell independentty in he progeny cells of | (3} Dedifferentintion
the arganism. [ Fi) Matiretlon
B It may getintegrated into the genome of the |
recipicnt, | 126 Spindle fibers sttach to kinetochoreg o
€. Itmay multiplyand be inherited along with || e e s
the hast DNA | cly Prophase (2} Metaphase
D, The alien picde of DNA s not an iniegral II 234 Wikrihaso (4) Telophase
part of chromcosome: | v
E. It shows ability to replicae. [

Tropical regions show greatest level of Specie, |

richness because y
Tropical latitudes have remained ”I“t’\"ul_n,

(1} Aand B only II| Al o o of ,\':L‘Er:s, hcnb‘.
21 D and E only | more time was available for Specig,
A -'“l'“-_ i | diversification.
(4)  Aand E only B Tropical envi are more seasong].
123 Wiiich ane of the following can be explained on | €. More solar energy is available in [rclp“-:sl
D, Constant environments promote Mic by

specialization.
Tropieal environments are constang
predictable;

ang

Choose the correct answer from the options Ziven |
below:

A, C, D and E only

EQ‘}/A and B only

A, B and E enly |
A, Band D onfy

128 Given below are two statements:

Statement 1 : Chromosomes hecame £radually
visible under light microscope during leptotene

Statement II : The begining of diplotene stage is

lized by dissolution of synaptonemal |

complex.

In the light of the above statements, choose the

answer from the options given below:

U Both Statement | and Statement 1] are true
(2)  Both Statement | and Statement I1 are false
(3) Statement | js trie but Statement [1 is false
(4} Statement [ is false but

Statement 11 is true

[ Contd...
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:3-1 13
: s dominant SEg
I a plant, black seed color (BB/Bb) 15 dt;—”,-::‘:‘ul Flonig,.,. = L
133 Inaplifis B alor (bb). In orderto find o e [un
1o : STl g o
129!, MeChEEEIVRILLEE: ‘ e wmr“-pc‘;f t‘l‘\c black seed plant, w llI\_ ‘:'l“x n __:*LJ':{:;‘_J\ |
List T L ‘hf'l ch'oﬁnwint_- genotype will you cross s
A Nucleolus 1. SiiedpanaHon o “‘“Hl[: i (@ bb A
: of glycolipid (n 437 BB/Bb .
. {3y Bb i Y56 nuy

B, Centricle I, Organization like oy
= S ‘ /hich of the following are required for the ik iy,

C. Leucoplasts I, Site for active 134 eaction of photosynthesis? Lz,
ribosomal RNA A. Light %o
symthesis B. Chlorophyll :u-a‘“‘“ul

D. Golgi 1V. For storing C. €O, Ko

apparatus nuirients o~ ATP -;;,:: =
3 T : S LLT
Choose the correct answer from the oplions given £, MNADPH ) o e
below: Choose the correct answer from the options give
Wl AL BALL, CA1V, D1 below:
(2} A-llL B-1IL C-I, D-IV (1} A, BandC only
(3) A-IIL B-1V, C-I1, D-1 -2y B.Cand Donly
{(4)  A-l, B-IL C-11L D-1V (3) C.DandE only :
(4) Dand E only (""‘"El-uo;
130 Bulliform cells are responsible for v t
T / i ith List 1 \
(1} Inward curling of leaves/in monocots. 135 Match List Lwith i__ h
= 2 List1 ( List IL |
(2} Protecting the plant fram salt stress. L -—.________-*
(= A. Two or more <R Back cross
(3) Increased photosynthesis in monocots. ; :
. y : alternative
41" Providing large spacesfor storage of sugars.
St Providing leris spde b 2 — forms of a gene
B. Crossof F 1L Ploidy
131 A pink Alowered Snapdragon plant was crossed o, w1ilh
with a red flowered Snapdragon plant. What type ? s
of phenotypefs is/are expected in the progeny? ‘0“102.}'2-(3\15 v
(1) Only red flowered plants TECRSSING parent
oy £ C. Crossof F :
(2) Red flowered as well as pink flowered plants i of 1 WL Allele
5 F ; rogeny wit
(3} Only pink flowered plants Prog 'yh h
) 5 any of the parents
<4 Red, Pink as well as white Nlowered plants P
D. Number of IV.  Testcross
il y chromosome
132 A transcription unit in DNA is defined primarily

by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Repressor, Operator géne. Structural gene
{2} Structural gene, Transpasons, O perator gene
(3)  Inducer, Repressor, Steuctural gene

(4)  Promotor, Struetural gene, Terminator

Q3 _English ]

sets in plant

Choose the correct answer from the options given
below:

(1) A-L, B-1L, @-111. D-ly

(2) A=l B, Canp, Dapy
< 8) AL BV, C, D-1l
(4) A<V, B-11L, oo, D-1

| Contd...
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136 The DNA present in chloroplust is:
(1} Linear, double stranded
(2) Circular, double stranded
(91/ Linear, single stranded
(4) Circular, single stranded

137  Maich List 1 with List 11

List List 11
A. Robert May I Species-Ares
relationship
B, Alexander von 1, Longterm
Humbaoldt 1T

experiment using

out door plots

. Paal Elrlich 1. Glohal species
diversity at about
7 million
0. David Tilman IV. Rivet popper

hypothesis
Chonse the correct answer from the options given
below
(1) A-IL Bl C-L D1V
&7 A-ll, B-1 C-IV. D-T
(3) Al Bl C-HL D-1V
() A-IL B-IV. C-11, D-1

138  Maich List [ with List 11
List I List IT
A Ruose I.  Twisted aestivation
B. Pea 1.  Perigynous Mower
€. Cotton 1. Drupe
D.  Mango IV, Marginal placentation
Choose the correct answer from the options given
belaw:
(1) A-Il, B-1V, C-1. D-T1

27 A-L B-II, C-l1I, D-1V.
(3) A-IV. B-ll, C-11, D-1
(4) A-ll, B-1II, C-1V. D-I

"N

Q3 English | 20

| Botany : Section-B (Q. No. 136 to 150) |

Which of the following L
ess of replication in Eenys

‘ 139

== y o
regarding the pr

‘ {1

et

Ihe DNA dependent DNA polymep,
< DN

catnlyses p.-ul\ merization in ong d'.m”“
catoly -

thetis3 =2
rhe DNA dependent RNA polymer,
merization in one direqlin,

.5 poly

cataly

that i5 5 3%
rhe DNA dependent DNA polymery,

3 e
£s pﬂlymcrlzalwn in5"—3 5

catalys
as 3 —3 direction.

DNA dependent DNA polymery,|
3" directiy,

The

(4] S
catalyses Fx!l_\«'meriz:tllnn in3

correct description about the gy

Identify the

figure!

140

rl[/l'_i Wind pollinated plant inflorescence showit
flowers with well exposed stamens,

(2) Water pollinated flowers showing stame
with mucilaginous covering.

(3) Cleistogamous flowers showing autogaiy

(4) Compact inflorescence showing comple
autogamy.

| Contd.

: i SLiVIRY
ocosystem if the Net primary Produc

n an A
iteti List] with List 11 5 inm of first trophic level is e
Ll List 11 oo ol w2y o7~ what would be 1 GP
A Liitrit acid I Cytoplasm (Gross primary Produe 'vit?'r.ﬂl' :ljn:‘lljll“"
eycle [ rophic Jevel of the same ecosysiem:
B, Glycolysis 1. Mitochondrial | 0 X (keal m S
matris ‘ 10
¢, Electron 1. Intermembrane | 2y x kcat m 2yt
ransport space of | &) 100 (kcal m 2y !
system mitochondria o0 L
p. Proton 1V, Inner i e (heal m =)
gradient mitochondrial
X membrane 144 Match List with List 11
B List 1 List 11
Choose the cotrect answer from the options given A GLUTA L. Hormone
below: B. Insulin I, Enzyme
(1) AL B-lL, C-I, DAY C. Trypsin 1, Intercellular
(2) AL B CHIV. D-111 ground substance
Bj/-ﬁ\-tll B-IV, C-1, D11 D. Collagen 1V. Enables glucose o SN
! : L transport into cells \ - .
A A B UL R Choose the correct answer from the options given
below: \
142 Read the following statements and choose the set (1) ALV, B-L C-11, DT ]
of correct statements: Q‘/':'l“ B!;“l-uc-éllt.vﬁg\;
. 3) -11, B-1i1, C-TV. D~
In the members of Phacophyceae, :.4-] NS
A, Asexual reproduction occurs usually by Sy
biflagellate zoospores. 145  ldentify the step in tricarboxylic acid cyele, which
B. Sexual reproduction is by cogamous method does not involve oxidation of substrate.
only. (1) Malic acid — Oxaloacetic acid
C. Stored food is in the form of carbohydrates (2} %uccf“i“ acid — Ma‘l.ic_w.l:i,d _
which is either mannitol or laminarin. (3) Succinyl-CoA = Suecinic acid
5 {4) lsocitrate —» @ -ketoglutaric acid
D. The major pigments found are chlorophyll
a,cand vids and phyll. 146 Given below are two statements:

E. Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given

below:

(1) A,B,CandD only

(2) B,C,DandE only

'('3’] A, C,Dand E only
(4y A,B,CandE only \

Q3 English |

Statement 1 : In C; plants, some O binds ta
RuBisCO, hence C (j:_ fixation is decreased.
Statement 11 : In C ¢ plants, mesophyll cells show
very little photorespiration while bundle sheath ®
cells do not show photorespiration,
In the light of the abave statements, choose the

correct answer from the options given below:
y  Both Statement 1 and Statement 11 are true

(2) Both Statement | and Statement 11 are false
(3) Statement I is true but Statement 11 is falsel
(41 Statement | is false but Staternent 11 is true

| Contd
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1 o
owing are Autoimmun

which of the foll

Totlozy + 8 A (O, No. 151 1
147 Mateh List{ with List 1 | Zoolegy : Section-A (Q. No. I e
x 151 Faollo 1 are the stages of s wing is not asteroid hormone® oy
l::_“' List 11 | A e oterrial throual (g \s6 Wihich of the following isnota die
(Types of § . bR i e . Caiis A, Myastht e
J\.I\l .l"“lln\l (Example) | Heart )y Lo B Rheumatoid arthritis
onoadelphous. I Cirus A AV bundle (2) lestosterone pu e

H. Diadelphous . Pea B— Purkinje fibres (3) Progesterane I-) Muscnlar dystrophy "

C. Polyadelphous i Lily | C. AVinode “1 Glu £ Systemic Lupus Ervthematosus (SLE) e L my,,,

D, Epiphylious IV. Chinsro D, Bundle branchés Choose the most appropriate answer fron1 the oimgy,
Chodse the correet snswer from the o HET R - aptions given below ;
below e | . correct spquence of pathway from thy 157  Maich List Lwith List 11 - ‘-':—‘-, AL B & D only ooy,

P | 5 given below 2 List 11 i 0 T [
(1) A-IV, B ©-1, DAl | ; 1‘”_“ 2 AE-C-B-D List I . 2 ALB &r E only Tingng
(2)  A-IV. B-l, -1, D= | S \ (i) E-A-D-B-C A, o=l antitevpsin I Cotton ballworm (3} B.C & Eonly Yeunygl |
WAL BHIL, G-IV, BRI | (3] Bk =t G LA 1. ADA deficiency (4) C.D & E only H
A-HI Hul, C-IV, D-11 | e Ky =
() 10, L :1 R, v =d|mey |
SOE B 1 of jo e r sEmi . s
I| 152  [n both sexes of _o-.{&rﬂ:;h. tr F:]:[-]-:ej‘ integ . CrylAc I  Emphyzema 161l Vteh Lt with st Tl s e
148 Mutch List wath Last 1) | Bjamentyisy siractafes callec ania) ¢S ATE Preseng D Enzyme IV. Com horer List 1 List TT =
Lisel List 11 |I au replacemient A. Typhoid L. Fungus
el cnetic coide | (1 Tk SR
A, Frederick I Genetic code | L4 Tom, HiErar B. umaniasis i1 MNematode
Giriffith | o i - 4 : ) . . ! ek W CHTT 1. Protozoa
B FrancotsJacob I Semi-conservative | (3) &Mand Choose the corréet answer from the oplions given Y. Filarinsis V. Basterin
| ih g, |
& Jacque made of DNA | (4) 11" segment Below Choose the correct answer from the options given
[ | replication II 5 4 Dolphi 1y AL B-1 C-1v, D-11E below :
ansormat 5 e fMippers of the Penguins an phins g,
€ Har Gobind W, Transformation (183 ,ﬂritcirﬂrr;onhc 3 (2) AL B-L C-1L, DAV sl -"'l-\H;l:- C-L D1y Nrsng, |
Khormrm L . o 2y ALV, B-lIL C-1, | :
" Tl (1) Adaptive rdiatian (3) AL B-IV, C-L D1 K ‘J !. D-1 \ -
[ Meselson & IV, Laeoperon | A : (3) A-lIIL B-L. CV. D-11 1
Stalt] | (2) Natural selection (4} A-lL BV, C-1, D-1IT (43 A-IL B-1V, C-111L D-1
Choose the comect answer from the options given |I (3) Convergent evalition
below; ~4)  Divergent evolition " B 5 WA - 2 s .
ey 3 & - 158  Following are the stages of cell division ; 162 Maich List Lwith List It
(1) AL, B-lf, C-L B-1V | E List I List1l
;e A / ist
A, Gap 2 phase Exnirait o
A. Expiratc . Expiratory reserve

{20 A=IIL B-1V. C-1, D-1I |I 154 Which of the following is not a component of
(31 A-IL B-IL C-1V, D1 Fallopian tube?
(41 A=, B-I, C-1, D=1 L4 Uterine fundus

B, Cytokinesis capacity volume + Tidal
volume +
Inspiratory reserve

Synthesis phase

e - : : : ; “?f Is.lhrllu.s aryokinesis
g ”.‘h of the following are fused in somatic (3) Infundibulum * S VSRR volume
h_rbnc.la'znrn m invelving two varieties of planes? (4) Ampulla E. Gup | phase B.  Funetional Il Tidal volume +
r_‘JJ LuHun‘ ¥ {‘h;_s._\s._- the correct sequence of stages from the residual Ehp'lTanry fekarve
f:JJ Somatic embryos 155  Given below are some stages of human evolution, options given below ¢ capacity Volume
{:’i :r:;l'ﬂpl.m_-.- Arrange them in aprrect sequence. (Past to (1) C-E-D-A-B (@) E-H:D-ALC C. Vital capacity I, Tidalvolume -+
ullens Recent) - : i
3) BiD-E-A- el Inspiratory re: >
o5 A, Hamo habilis . calinahE ‘41/[‘{ R \OEI:Jme e
150 j—_ﬁj‘f!-i_\l_ng sugarcane erop with which of the B. Homo sapiens | D, Inspiratory IV. Expiratory
3] s pla . - 2 = e : hoger e - B ory res
ollawing plant growth ngu.fmors, increases the €. Homo neandertbblensis 159 Which one of the following factol in S capacity ; . +
P el Pl 5 actors will not affect : volume + Resid
- Bt OF stem. thus. increasing the yield) P the Hardy-Wei : F
A - D, Homo erecrus | 1e Hardy-Weinberg equilibrium? 3 volume
(2) Gibberellin ?hOOﬂ‘ the correct sequence of human evolution (1) Genetic recombination t hoose the correct answer from the optioy
(3} Cytokinin rﬂ?!!}' the options give below : (2) Genetie drift ek
(4) Abscisic acid (7 D-ACB  ((2) B-A-DC . e (1) A-IL BAV, C-1, D11l
- LG (3) C-B-DA (4) A-D-C-B (3)_ Gene migration (2) ALl B-IL, C-IV. D4
Q3 English | Y4) Constant zene pool L)AL B-L CY, Do
< 22 [ Contd., | (4) AL B, C-11, Dav

Q3 English |
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. anpald r-_\._hl\ﬂﬂd
Which of the fallowing isnata natural/t
plive method?

syraduet of DNA 172

163 Mareh List | with List 11
List1 : 166 Mateh List [ with List II (g9 Wiiigh one dsdho earrerl b 2
% Diowe List 11 List1 depenident RNA polymerase to the given contrace]
'B‘ s syndrome 1 1™ chror {; o . emplate? (1) Coitus interruptus
4 =1 4 Sub Phase: . . =
a-Thalassemia . X" chrom |'I"I'I""'IT :; i SUTAGATCE AANTATCCATTCAS (2) Periodic abstinence
e pe & e : UUAUAGG ; !
P -Thalassemin ML 21" chromosome A, Diskinesis | Synaptonemal BUUAUAGOUAAGUS (31 |_actational amenorehed
R e et S s (7) STAUGUAAAGUUUAL AGGUAAGLS T e
I N shrompsbimc | complex [ormatiog My e Sl ity (4} Vaults
g [ B Fachysns 1. Completion of (3] STAUGUACCAUUTAUAGGGAAGUS!
P T it . 4 STATGTACK GTTTATAGGTAAGTS® c
: 'I'I' "':‘ the correat answer from the aplions given | terminalisation:of i : 2 e 173 Three types of muscles are siven as . b ““: S
(b | chiasmata e S o with their
. | el Identify the correct matching air along wit
(1) A=l B, 011, -1 |I €. Zypotene [1l, Chromosomes 170 Match List Lwath sl ‘ lncgnln-n in I:umnn hnd: s .
(20 AL, Be1L Y, D | Jok like thin List1 List 11 At
) AL BV O - | threads A Pons . Provides additional | ag |
() ANV Bl @11, DA | D Leptotene IV, Appearance of space for Neurons, | o
: ina resulates . .
164  Ciiven below aretbo staternetls - one o R FREL e PSR |
ax Assertion Atahd the oviher is 14 nodules and balance. | ]
Russon R | Choose the comreabanswer from the optiens givey E S Hypetheianug . Controls 1y
Assertion A s FSH acts upon ovaran folligles in Teowe respiration and i
Jemale and Leydig cells in male |I (1) A-IV. B-IL C-1T, D-1 pastric secretion:
B2 5.
i Caing sen s ckegsaaia[L  (OALEL ek €. Medulla . Connests differe HusmsCEmans e lors s
estragen in femle while inrerstitial cells secrete } (G) A, BIV. C-1, D=1 epi hr I, — (1) (1) Smooth-Toes
N e R : ‘ regions of the
angdrogen in male human being ©H A-IV B0, Cf-]l'. D-l frai 2 (b) Skeletal - Legs -I;'*"Cl.l
In the lght of the above stalements, choose the | " D. Cerebell s te) Cardi .
(& = W B J . 1, - ] PR T e o o erebe g - ‘ ardiae - 4
xS ranswer ffom the aptions given befow : } The ~Ti plasmid af Agrobacterium tumefacien; ek ] V. MNeuro secretory 3 3 M |
(1) Both A and R are true and R is the cormeet stands for - i - cells ‘[’})' () Skelstierelps
explanation af A I|| (1) Tumour inhibiting plasmid tl:nnﬁe the correct ansWer from the options given {hy Smooth - Stdm;lch
1 0 a e v ! - el - ~ : b
& J.'.lr:h A ,imlf R are true but R is NOT the || (2% Tumor independent plasmid ‘—Vf..-.‘\ T . () Cardiac - Hedn,
correct explanation of / = b A-11, B- Ll E :
by e JI[r:: I‘!”.I A | (3) Tumor inducing plasmid @) Ad B-IlL C1, Bl (3) (a) Skeletal - Biceps
< 5 L 5 daise ) A IV CEIY
# £ IRARSE (4) Temperatw€independent plasmid 1L B-IV, CIL DA (b) Involunt 3
(41 A s false but R is true a 2 (3) A-L B-IIl, C-11, D-1V ntary - Intestine
: : Sk (€) Smo - He
165  Match List I with List 11 : 168 Match List I with List I1: (4) AL B-L, C-I11, D-1V 1 athc=Koars
7 E ith List 11 ListI = o e ; (41 (a) Involuntary < Nose tip
4. Pladr : Listl A. Cocaing --.I Eifective s ol Mateh List Lwith ListTl < (b) Skeletal - Bone
Pleurobrachia s - ective sedative in List 1 i . L, -
B. Radula ) O surgery : Listl1 (e) Cardiac - Heart.
, 1. Crenophora : g A. Lipase | :
C. Stomochord . B. Heroin I, Cannabis sativ “ A optide bang
£ Aot I, Osteichthyes o . : s sertiva B. Nuclease 11. S Ester by 174 Which of the f :
. Air bladder IV, Hemichordata D' &f rp ine (ML Ervthroxvium C. Protease 1. (_i-l v T A bi e lowieg e E i
Chocsethe e " p i Marijuana ! o ; : cosidic io-reac : .
= ! b ;‘I’Un the correcranswer from the options given Cho Jh ; :W. T Ty D. Amylase V. Pl 2 A b cuud';' rLa‘-_LUT provides aptimal groy
= bcll abe Yic correeRanowRE from the options given R hosphodiester bond =~ wions forachieving the desired prod
W A-IV. B 1 ow ; - € COrreet answer from the 3 i (2) Most cor - : i
) L C-1il, DA below : nthe options given Most commonly used bio-reactors
35 AET T 1) ALV, BAILCL, D1 sl iy | stirring ty pe, ;
YAl ¥ (2) Al B- ! ; ALV B-LL CHTED-1 3 FOLISACkarS
| == (3) A-IL B-IV. G2 D-111 ) I, B-1I1, =0, D1V @) KR | (3 iiln :;,TlLLms. are ysed 10 produce smal
(4) A-IV, B-1IL C-II, D-I (3) AL B-l, C-lIL D-IV 3 A B 1\.(““-“ | 4 nacterial cultures,
(4) AL BV C F oA=L B-IV C-1, sl (4) Bio-reac
. B-IV. €A1, D- o-reactors have an agi
Q3_English | i () AV, B-L, C-1LD-11 an oxveen deliy it
24 Q3 | kg
- 3 N = ) - .
| Contd. _English |
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175 Given below e two «

tatements -
ns Assertion Aa

one s labe
nd the other

5 labelle
Reason R
Assertion A - Hrcmi-h.-u.Jmuu'urul:! initial per
of infant growy, 15 recommended by dogtors

bringing 4 healthy baby,
Reason R ;

Colostrum contains several antibod
absolutely essential 1 develap resistance for
new horn baby,

In the Yight of the above statements, cf tl
MOst appropriate answer from the aptions give
helow

(1) Both Aund R arc correct and R is the corre
explamation of A

correct explunation of A.
3}
Wy

A is correct but R is not correct

Ais nit correet but B is correct,

176

the formation of oxyhaem: iglobin in alveoli? II

(1) High pO, and High pee Iy {

(2) High pO;and Lesser 11+ concentration
L34 Low pCo), and High H™ conceniration |
. |

[

(4) Lowpc ‘05 and High temperature

177 Match List | witly List 11 -

List 1 List IT
A, Common cold L. Plasmetium
B, Haemozoin i Typhoid
€. Widal test L. Rhinoviruses
0. Allenry IV Dust mites

Choose the correct answer from the options given

below
o (1) A-I BV c.ip. pat
(2) AL B-111. -1, D-1v
¥ A-m, .y C-Il, D=1V

(4) A-IV. By, C-IIL D-1

Q3 English | 26

|
2) Both A and R are correct but R is NOT the |

|
Which ofthe follow ing factors are fivourable for III

1 178  Consider the follow ing staternents
| A Annelids are true co
A
| B.  Poriferans are pseud
slomates
il ( Aschelminthes are acoelomal
: : : weoclomate
: lI . Plarvhelminthes are pseudocoelomates
I Chidse the eorrect answer from the opLians giye.
o | O05E
.:I‘ [ below - ,
] 2 i fy
‘ [ (1) Baonly (2) Aanl
4) Donly
I 3 iy (
) 437 C oml
e |
on
Match List | with List 11 :
List I List IT
151
Aultiload 5.
| A, Non-medicated LI} fi Multiload $75

B. Copper releasing 1L/D I Progestogen,

| =C. Hormone releasing TUD Il Lippes logp
|II D.  Implants Iv. I..‘\'(:j-lrJ
I Choose the correct answer from the options Biven
II below |
(1) A-IL B-I C-L D1V
(2) A-L B-III, -1V, D-11

397 AIV, B-L C-I1L D=1
(4) A-IL B, G-IV, D-Ii

80 Given helow are bwo statements -
Statement I : In the nephron, the descending [imh
of loop of Henle is impermeable o water ang
permeable to electrolyies,
Statement T : The proximal convoluted tubule
is lined hy simple columnar brush border
epithelium and increases the surface area for
reabsorption,
In the light of the above statements, chooge the
correct answer from the options given below ;
(1} Both Statemen; | and

&7 Both Statement |

Statement Il are true

and Statement 11 are false

(3} Statement | js true but Statement 1 is false

(4) Statement [ is false hut Statement 11 is trye

| Contd..
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= 52,
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| ] ey
oy ::ﬁa
{ |I 'sas"e'?' el :‘O::
o e ] fua L
| T0ag AL
Hoey g
=
=i
e
e
g ;;u L
i
= -
is ith List I : _J_ﬁ_ri.:_m_?
: Aatch List 1 wit 2 e
iagram showing restriction sites | 183 N List I List 11
The following diagram s 199 Find the role of ik A 1. Hag fish
151 colicloning vector pBR322, Fin A, Prerophvilur - q“: =
! Fitie it : Sy,
iy 1L Angel fish =
. gitiE = o
(2 Exocontus IV. Flying fish - =iy
D.(“h :osc the correct answer from the options given Boig,
“ho
below : y RAng
(1) A-IL, B-L C-IIL D-TV oy,
(2) A-IL B-I, C-1L, D-IV =
(3) A-IV,B-L C-11, D-111 =]
L7 AL, B-II, C-1, D-IV 2y
e 184 Match List T with List [I - e
List L List
(1} The gene “X" is responsible for resistance to A. Fibrous joints Adjacent
antibiotics and, *3* for protein involved in vertebrae, limited
the replication bf Plasmid. movement
(2) The gene *X" js responsible for controlling B. Cartilaginous l.  Humerus and WS g
the capy number of the linked DNA and * ¥ joints Pectoral girdle,
for protein involved in the replication of rotational
Plagmid. movement
., . N
PQ,) The gene “X4is for protein involved in C. Hinge L Skull, don’t
replication o ?!asmid and * ¥ for resistance jomis allow any
to antibiotics movement
(4} Gene X" is responsibe for recognition sites D. Ball a”fj b IV. Knee, h(?lp n
and ‘*F* jg responsible for antibiotic socket joints locomotion
resistance,

182 M

2
D,

be

(1) A-IV, B111, @t D-1
(2} A-1V, B-Iy, Caqiy, D-]
() AL BV, O, D-111
(#) A-1L, B-], C-1V, D-11

Q3_English |

Choose the correct fhswer

i~
atch List | with List 11 ;

List 1 i, List 1T

Axoneme k;l L Centriole
Cartwheel 1 | Cilia and flage|la
pattern b

Crista L. Chromosome

Satellite IV, Mitochondria

from the options given
low :

185

27

Chaose the correct answer from the options given
below :

1Y A-IV, B-IL, €A1, D-1

(2) AL BN, o, D-1v
(3)  A-IL B-I11, -1, D-Iv
(4) AL B-L -y D-11

Given below are two statements :
Statement I: The Presence or absence of hymen
is not a reliable indicator of virginity,

Statement I1 ; The hymen
Coitus only,

In the Tight of the above stateme
correct answer from the o
(1) Both Statement | and Statement 11 are trye
(2) Both Statement | and Statement || are false
3 Statement [ is trye but Statement [ is f

(4) Statement | is false but Stateme

IS torn during the first
nts, choose the

Plions given beloyy -

alse
Nl is true

| Contq,,

nias

jew Platform



C.

D.

for erinding the fogd.

Given below are

(0. 186 to 20 —
twiy \tt'l]i!l!'h:f'l'l\

Statemen '3 Gauser Sompetitive exclusion |

-1l o—
| 488 The Tollowing are the statements aboyg
[ 188 £

chordates

closely refated cpecics II A, Pharynx is perforated by gill slits.
Competing fiyr different resources cannol exist | B, Notochord is absent.
ndefinitely | €. Central nervous system is dorsal,
Statemeny 1y S Aecording 10 Gause's principle, | D.  Heart is dorsal if present
durilagur-nu\unn:m. theinferiorw iiheeliminated, | E. Post anal tail is absent,

This miay be frye ' resotirces are limiting |

[ i ;
In the light 61 the aboye stitements. choose the | options given below -

eamect answer from the aptisns aiven befow : III (1) A&Canly
(1) Both Staternent | und Statement I] are true. / 2} A.B & Donly
. 0 & E only
(2} Both Statement | and Statement 1] are false. | MB N
N | (4) B, C& D only
(3 Statement | is true but Statement If is fafse.

(4} Statement | is fujse but Statement 11 is trye. 189 Choose the correct statement

regarding juxta medullary nephron
(1) Juxta medullary nephrons are

Ziven belgy,

18T Mintch List | with List Il refated o digestive system located j the

of cackriagh, columns of Bertini,
iy Listh (2} llleulal corpuscle nl"‘jluxm medlr”arynephmn
lies in the outer portion of the renga) Medyjjy
A The structures ysed I Giszard (3) Loop of Henle of juxta medullary nephron
for storing of food, runs deep into medully,
B. Ring of6-8 bling I Gastric (- Juxta medullary nephrons outnumber g,
s i ) cortical nephrons,
tuhules at junction of Caeca
foregur ; icly :
cregutand midgur 190 Given below are two Statements ;
Ring of 100-150 yeltaw 1y, Malpighian Statement [ : The cerebral hemispheres are
Coloured thip tubuies connected by nerye tract known ag Corpyg
filaments at function of el
midgut and hrndgui Statement It ; The brain stem consists of the
i suL medulla oblongat, pons ang cerebrum,
The strirctures used 1V Crop

In the light of the above Stateme

nts, chonse the
MOost appropriate ansywer from th

€ aptions giyen

|
Choose the COTect answer from the options Biven o
e Far Bo.rhSraremenlland.’iiammen”lan:cnn'ect_
m_“.: P o1 (2) il::{:i;;alemcm Iand Statemen ) are
(2) A gy CHl, Doy 3) Statemen | js correct hyt Statement | is
G) AW, Bap .y py Meorrect

Q3_English ;

4 A-my, B-11 ¢y Dy

4) Statemen | is mecorrect but Statement |1 js
correct.

28 l
[ Contd..,

N,

| Choose the most appropriate answer frop, the

|

(L4

192

193

\BY” FSH

-} atements
Givel h‘.I“;’"“:;:‘I::"::r;l:l‘::—\\‘ is the main lymphoid
Swtﬂ:';‘“.:n “lil blood cells including lymphocytes
organ Wie
218 pnniu%;e:‘[- : Both bone marrow and thymus
_~,'mtt'::;‘f“iwu :-u vironments for the development
P::}‘r:’k‘!l“m[in“ of T-lymphocytes,
|“rj|leJ|gh'.o!'1I:ea1m\-c»mrcn1cnt\- .~|~_<.~1_—|se|!w mast
appropriate answer from T|1.€.'\.>|1I ions given hdmf
(1 fiuth!dlL‘HlL‘rHfﬂntf.‘\[.‘ilx‘llncnt||ul’u..'nrr.cul.
(2) Both Statement I and Statement || are
incorrect.
Statement | s correct but
incorrect, .
Statement | is incorrect but Statement 11 js
correct.

(3
)

Regarding catalytic cyele of an eNZyme action,
select the correct sequential steps :

A, Substrate enzyme complex formation,

B. Free enzyme ready to bind with another
substrate,

C. Release of products,

D Chemical bonds of the substrate broken.

E. Substrate binding to active site.

the correct answer from the options given

) E;AID.C,B

2) AE,B,D,C
(3) B,AC.D,E

(4) E,D.C.B A

Identify the correct optian (A), (B), (C), { D) with
respect 1o spermatogenesis,
GnRH

LH {A)
1 bt

(B) (C)
4 il

Androgens Faciors

*

annu[innnfsmmm!ids (D)
(1) FSH, Leydig cells, Sertoli cells,

Spermiogenesis
(2) 1CSH, Interstitial cells. Leydig
- Spermingenesis, 5l
sertoli cells,
Spermatogene
(4) 1CSH, Lt:_\'dig cells, Sertolj
SPermatogenesis,

cells,

Ley dig cells,

cells,

Q3_English ]

Statement 11 is |

f."

104  Match List 1 with List 11 °-tf_
List 11
Llf‘- lzoi‘ Era I.  LowerinV ertebrates : L
. :’1‘-:0 . z:i' Era II. Fish& ,-\mph:il\iu 7
B. Proterozoic Era .
€. Cenozoic Era Il Birds & Reptiles Y
D Paleozoic Era IV. Mammals .
Choose the correct answer from the options given
below :
(1) AL B-L, C-II1, D-IV
(2) A, B-L, C-, D-IV
(3} A-L B-1L, C-1IV, D-m
T ACIIL BoL G-IV, DAY o

195  Match List I with List 11 :
List L
A. Unicellular glandular ik
epithelium
B. Compound epithelium |1,
C. Multicellular
glandular epithelium
D. Endocrine glandular
epithelinm

Choose the correct answer from the

below :
AL BAL, Coi D1V
@) A4V, BN, ¢, puy

G) A, By C-1, D-11

4) AL B, C-1V, Dng

List 11

Salivary glands

Pancreas

HL Goblet cells of
alimentary canal

IV. Moist surface of

buegal cavity

oplions given

nias

jew Platform



| SPACE FOR ROUGH WORK

196 Match [jg Fwith Ligt I | 199 Given below are two statements
List | List 11 { : Mitochondria and L'hlompla.'.-[;aro
A s i L snRNps lI hu‘|h double membrane bound organelles.

e 1hm‘inmi0n ES I Statement T : Inner membrane oi'milnc'hmmn-,a |

transeription I Promotor { |I:- relatively less permeable, as compareq /

C. Splicing of Exons . Rho factor | Sl ||

D. TaATA by IV, SnRNAs. iR NA | S Hightbitis Above staterionts, Shonee the mgs |

Choose the COmeCt answer from fhe aptions given | Inthe lightis |

Appropriate answer from the options given belgy,.

below : |
% , ate tharec
AL B-IVeC-1, popy | (1) Both Statement L and Statemen are Corpgny
(20 AUl B11, C1v, ooy | (2) Both Statement I and Statemen 1y are |
G) AL BV, ¢, poyg f e .

() AV, B C-1,. D1

(3} Statement 1 is correct but Statemeny is
197 As per ABO bl &rouping system, the blood
Zroup of fahes 15 BY, mother js A+ and child is
O, Their respottjve Lenolype can he
A IBispa;y it
B B A
C M A sy
D 14 118i 14
E s e
Chovse the J!r_l_J:g‘J; appropriate answ er from the
Uptions piyen befow
(1) Any (2} B onjy
Gl Cap onfy M) D&E onlfy

incorrect.

(4} Statement I is incorrect but Statemeny I ig
correat,

200 Match List | with List ] -
List I List IT

A, Exophthalmic .. Excess secretion of
Soiter tortisol, moon faceg |
hyperglveemia
B. Acromegaly 1I. H}-pws:crermn

198 March Ligt Twith List - of thyroid hormone

List | List 11 and stunted Browth,
A Puwgye L He icles are .
gt -:‘Lurr. rmmklzs AE il Cushing's . Hyper secretion
electriea y silens,
B Qs compley g Depolarisation of syndromg of thyrojd hormone g

ventrieles, Protruding eye balls,

€ Tiaye I De larisation of :
i D Cretinism IV, Excessive secretion
atria,
D. P gap v Repolarisation of ofgrowth hormone, |
i vVentricles. Choose thet Somect answer from the options Ziven
Choose the Corect answer from, the options Liven below -
below -

(1) A Blin oy, D-1y
(2) Ay, B-11 c.p, D-1}
(3) A B-1v, oy, D-
4) A, By o, D-ir |

D A Bapcyy pyy

%) AL Bpc.y, b,
O) Al Bty p gy
) Ay Br oy D-fiy
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